EARAROBREBRT —5 XN—ZXBISH—F 20224F585H (A) 40EH1E

VR C2 Y5R4mtE BRI
[AXE%&) 1 %&:700,000 ~ 23#%&:280,000H  33#%&:175,000H . 43#&:105,000 M ~ 5 3&:70,000 M
B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
~ 5 s 8 | HLE®K 1:20.9 7-7-4-3 | 40.2| - 5 | 485 |EREIEBL (BE)
117 9| OX%YTL—R 5470 - A LA
R:oOd7=% B:7ZRIAPIN-K BEXERUS
. . TIRIE 21, -8-7- . - HEABE (EH)
215|5 | X/ I7AH— R ) 4 A : ;‘Zj) wana
RiFVINAO— B:y—TI7U— I VBRI
NI st 4 | BHPFE 1:21.4 4-4-5-5 | 40.9| - 1 45) | EETTHE ()
3 4| A=Y=V T 54.0 @12 (4 | SHEHE
RIIRART—LYF— BOFAN—RYID & HE
{EQARHRE : -2-3- - LEFEsEL (FEkE)
4 7| Z/HUU— i 4 e 1(.32/14.)6 3-2-3-1 | 41.6 3 (ztfgz) 2o
R:YVa—HnFF—/ B:OREUU— YT 7—Is
SSFa B4 | KHEZM 1:22.0 2-2-1-1 |41 - 4 | 498 |1BALEE (T
5 3| RAY v wAIL 3.0 212 (1a) | POEEB
Ri/ITTURN B:bhoIr7r—1 B HFEEER S IVRE S
S =S B6 | MIFhEtR 1:22.2 6-5-6-7 | 41.6| — 7 | 474 | FHEE (EH)
618[11| XM¥av=v3E 54.0 3/4) +5) i
R:ibwHIO—U— B:T—FRU—3X FRES
© U tv 8 | BEE 1:22.2 10-10-9-8 | 40.3 | ~— 9 483 | REHIRE (FRR)
717|8|/VILFy YR 5.0 o) (1) | LEE
R:007% B:ARIUT J=HUT7—L
— » t 5 | BEHT 1:22.8 9-9-10-10 | 40.9| — 10 | 446 | KLWEX (FEkR)
88|10/ /NIA=—0O—X £ 54.0 G 1/2) 3 | @) S¥=27-959k
R:2A9—=Uv7O0—-RX B:7A4SVRUU— ~ FEERIBITREYEERAT
» o REFR 123, -11-11- . - KEE= (M)
9 S NEITUR Ho4 % 1(233)3 11-11-11-11] 39.6 8 (4_521) P,
R:STU—=F4A4 B:NF/TTUR NT BAE
== o t 4 | REER 1:23.6 1-1-1-4 [ 43.7 | — 6 445 | BrpiEig (BH)
1001)1|/7333—F 4520 (1172 () | PRI
KRRy I—9ILYI #:LwRY—H peldie]
3 ST WS 110 | EEEK 1:24.6 5-6-8-9 |43.9| -— 11 | 518 |=EEZ (EH)
1nfg e TIWEIVT ’ 5.0 © Gy | @ Tr—2hEvIY
RXARISY F: OV XTwvd KBS
@ 1—F—&RIEL
13—7+— 1,3,7,4,6,11,9,5,10,8,2
20— — 1,(3.,7).4,11,6,9,5,10,8,2
30—7— (1,3),7,9,4,11,5,6,8,10,2
41— — (3,7),9,1,(4,5),11,8,6,10,2
o ILRE
BB 9 1,240 JA R 5-9 440/ % 3E 5-7 1,230 3EE 4-5-9 770/
B B 9 1909 4-9 410M 5 E 5-9 1,360 3EH 9-5-4 9,900
5 1309 4-5 1904 Ba 9-5 4,060
4 120/

ABIC OV TRUTEREERRODDZE. THRIIZEL.



